An Evidence of Pythagoras’ Theorem

Rectangular Triangle
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1. The angle-sum in any triangle is 180°, therefor in a rectangidagle there
isB=90-a

2. By triangles, which differ in size, but have equal angles, the laighitles
behave proportional to each other. By drawing-in the hight-line one obtains 2
of such triangles (a-h-p und b-g-h).

3. If one draws in any rectangle a diagonal, it is divided by th@s 2 equal,
rectangular triangles. So every of these triangles has exhetlyalf area of
the rectangle. So one can determine the area of the rectancrigtet by
drawing a rectangle over it.

So one can determine the hight of the triangle, but p and g too, withoutrightvel
angles:
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Pythagoras’ Theorem
Evidence by comparison of the areasiiad p ¢
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In theboth triarglesof thesameanglea betweeraundpit is:

In thetriangleABD: p=altosr

In thetriangleABC: a=cltosy

k =cosa onetakek insteadof theCosinea asshorteningactor:

pl]::a[kBE=a2

after this the green rectangle has the same aithe@ gseen square

by the blue it is the same, if one replacely 3 , a by b und p by g. By the so
called “projection” of a on p the shortening is the same factor as by the
projection of ¢ on a, because the angle is the s&hm means: What has been
arisen by the projection of the side of the squmrehe green rectangle: What
the length of the side of p versus a is shortettesl length of the side of ¢ is
prolonged by the same factor versus a. Thus iaithe of the rectangle equal to
the area of the square.
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The best evidence of Pythagoras’ Theorem
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triangle ~ 7
=c’+4.4
bigsquare ~ *““triangle

=c?+2.ab=(a+b) =a®+2ab+b*

bigsquare

from it follows : ¢ =a’ +b?
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